


Corporate Governance and Executive Compensation
Learning Problems

Answer Keys
Problem:  Corporate Governance at Toronto Dominion

1. Board mandate
2. Board chair position description, CEO position description
Problem:  Corporate Governance at CAE
1. Governance committee charter, Committee chair position description
2. Human resources committee charter, Committee chair position description
Problem:  Corporate Governance at Magna 
1. Code of Conduct and Ethics
2. Magna Hotline
Problem:  Corporate Governance at Canadian Tire

1. Expectations of Directors
Problem:  Annual Bonus at Netley
1. Bonus Calculation

400,000 ((.8) (.865) + (.2) (1.20)) = CAD 372,800
ROIC

(38,900,000) (1 − .25) / (305,670,000 – (29,340,000 − 2,640,000)) = .1046 or 10.46%
.75 + (1.00 − .75) ((10.46 – 10.0) / (11.0 − 10.0)) = .865

Injury Ratio

1.00 + (1.50 – 1.00) ((1.50 – 1.30) / (1.50 – 1.00)) = 1.20
2. The performance measures might be expanded to include one that reflects an executive’s individual performance as well.  ROIC and injury ratio are company-wide measures.  Possibly the ROIC and injury ratio could be calculated for the executive’s business unit only instead of the entire company.

3. (38,900,000) (1 − .25) – (.075) (305,670,000 – (29,340,000 − 2,640,000)) = CAD 8,252,250
Yes, it is adding value as it has positive residual income which means it is earning more than its cost of debt and equity capital.  Another way to interpret this is the company has an ROIC of 10.46% and a WACC of 7.5% so it is earning more than its cost of capital.  
Problem:  Employee Stock Options at Clearwater
1. (50,000) (14.24 – 11.20) = CAD 152,000
2. (50,000) (1/4) (11.90 – 11.20) = CAD 8,750

3. The vesting period could be increased to more than four years.  The exercise date could be extended beyond the vesting date.
4. Stock appreciation rights (SARs) could be used.  The profit is paid out in cash instead of the company issuing new shares.
Problem: Performance Shares Units at Clemson
1.

(.7) (80,000) (1.325) + (.3) (80,000) (1.250) = 104,200 PSUs
1.25 + (1.50 −1.25) ((14.3 – 14.0) / (15.0 - 14.0)) = 1.325 
(.5) (1.50) + (.5) (1.00) = 1.250
2. It may be possible to manipulate ROIC as it uses accounting values.  Share price is based on cash flows, so it is likely more reliable.  Also, it keeps executives more focused on long-term share price maximization and prevents an executive from receiving a large payout when the shareholder is not benefiting from an increase in the share price.
3. In addition to ROIC, other financial measures such as cash flow from operations could be used to provide a more broad-based indication of performance.  Be careful that the measures do not include similar inputs as this will make the factors highly correlated with each other and thus redundant.
Problem:  Deferred Share Units at Cascade
1. 74,438.24 DSUs
	Transaction Date
	Shares Issued1
	Cumulative Total

	January 2
	53,398.06
	53,398.06

	January 2
	13,349.51
	66,747.57

	March 31
	1,907.07
	68,654.64

	June 30
	1,855.53
	70,510.17

	September 30
	1,986.20
	72,496.37

	December 31
	1,941.87
	74,438.24


1(550,000 / 10.30) = 53,398.06

(53,398.06) (.25) = 13,349.51

(66,747.57) (.30) / 10.50 = 1,907.07

(68,654.64) (.30) / 11.10 = 1,855.53

(70,510.17) (.30) / 10.65 = 1,986.20

(72,496.37) (.30) / 11.20 = 1,941.87 

2. Williams may have converted her AIB into DSUs instead of buying shares directly because of the 25% match by the company.  Also, dividends were received in the form of extra DSUs so there was no difference from owning actual shares.
3. Cascade may want to increase Williams’ level of share ownership to provide a greater incentive to maximize its share price.
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